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Part & General Intalligencs and Reasaning

BT W B e U9 odeuEe

——1

Part A: General Intelligence and Reasoning
T & WY SREE Ud geiEd

Question Nos.1 fo 3

v gear 1 #3a9%
Directions / B2 find the odd word / letters / number
from the given afternalives.
U 7 BFeul # & 39 weg /[ 3R/ WA FIH

gl

1)

A) G B) RN

C) NJ D) UQ

2)

Ay 22 B) 12

C) 15 D) I8

3)

A) gpeed post/Theome B sMms/ e mHUEE

C) Letter/Tom D) Money order ¢ AATHIST

4) Ohbserving the Trend find the missing rmber.

uqteT Y 4Wd §U od WEAT AR AT,

5 4 3

G T =

4 X d.

£ 30 I
A) 5 B) 3
C) D) 10

Question Nos.5 to 8
T HETT S TR AT
Directions / fder Select the related word / letfars /

number from the given alternatives.
Rz v fReeyt # & aFEl0T wes / HET / EW F

gr=rey

5) DIMO : DMIO : JUVR : ?

A) JUVR
C) IVUR

B) IVRU
D) JRYU

6) FRENCH : FRANCE :: DUTCH ; ?
Vel . ST 2 B 1 7

A) HoLLAND /Eids
C) noRwAY /FTd

B) yun /sl
D) SwEDAN/ FdEA

i N e A
A) 52 B) 28
C) 49 D) 6B

8) BOOK : LIBRARY :: TREE : 7

TEAE | QR G 7
B) FURNITURE [ SeifaT
D) poresT! @

A) prUIT | T
C) sHADE/ T

9) If STOVE is coded as EVOTS and CANDLE 15 coded us
ELDMWNAC then REPORT is coded as7

e STOVE &1 18 EVOTS § 3R CANDLE & 315
ELDNAC ¥ 3t REPORT &1 w12 T ER17

A) PORTRL
€} QDONOS

B) $FQPSU
D) TROPER
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Par A General Inteligence and Reasoning

18 e T T A T | R s i

10) A word is represented by only one sel of numbers as given
inany one of the alternatives. The sets of numbers ven in
the alternatives are represented by two classes of alphabets

as in two matrices given below. The columns and rows of

matrix | are numbered from O te 4 and that of matrix [[ are
numbered from 5 to @ A letter from these matrices can be
represented Orst by 155 row and next by its column, ez, D7
can bhe represented by 00, 12 etc, and ‘P can he
represented by 36, 68 ete. Similarly, you have to identify
the set for the word “FIRE®,

TS e FEW UF WEA- WE S@nT gumm T f
swr B Rt o F B v O Rar
fawed & e I Fem-wng snnt & & g9 gE
zafie o &3 B A R aw g swregt & #
g | & Few AR uFa fr aer o s ¥
HT FEgE 1 Fr sHo |5F aregel @ v e &
qEel 3E& 9fEA AR @ I ¥ dean gEm
AT ST HERAT 8] IS & WU, D A# 00, 12
e, Z@nT SR JT AFar § g P WY 56,68 M
ZANT FeiET S wwer ¥ | o 9 o e vm A
oT e ‘FIRE' & TOUT @8 =7 ug==1 £

MATRIX - 1 MATRIX - 11

| [o]1]273 4 56789
0ODE[FIN (5/0OPRS'T
1 I NDEF 6/S' T OPR
2 EIF/I'ND 7/PIR S|T O
3NDEF/I 8TOPRS
4 FINDE 9 RSTOP

A) 33,3476, 22 B) 21.22,88 33

€y 02,03, 57,01 D) 14, 10,69, 4

11} Which of the answer figures can be formed using the
question fgure:

T WIS & WA FE & | Iear snefa g
=T @ehell £7

12) Five friends are silting in a row facing South. Here Mohan
is between Balu and Raju and Raju i5to the immedinte right
il Praveen and Amith is to the right of Balu.
Who 15 1 extreme right end %!

wie T v i A e & Hy e 45 E 3a8
gt @ AR T F @ & § iR g adm & S e
3T ) g e 31T, AT aTS AR AReEN, 6eE o
AR FRTE?

A) Amith/ 3 v
C) Praveen / TTETT

B) Baluarg
D} Mohen / g

13) IF 2=0, 3=3,4=6, 5=9 then 7=7
i 20, 3-3, 4=6, 5=9 &, ar =7

A) 16 B) I5
C) 18 D) 12
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Farl A General Inteliigence and Rieasoning

s o ma ghaEear o Al

4) If
+ stands for
x stands for —
—stands for +and
+ stands for 4, then
48+H-12+2+10="1
(Do chronologically and not according to BODMAS rule)

afg
s rFRTE
R T -1
— + @& v & #x
+ - FRCE A
48+6-12+2+10="7
(@A & WA F aed 761 afeh HH F I
ol 1ol
A} 9
C) 4

B) 16
D) 14

I5) A piece of paper is folded and cut as shown below n the
question figures. From the given answer figures, indicate
how it will appear when vpened.

W ARt 9 BT 3T S S ASE
Fe T @ 9 o7 By IoW WS S

I £ ﬁ\ﬂ\,

'l\ & 1
lﬁ\ i '//': z__/ \\\ fl‘/-'r ";\
A | e 3 2P
/| |
A} B) C) D}

16) Which answer ligure will complete th pattern in the
question figure?

Fler A 3eaT Wl e W & wfaww & g
Fafi?

ABD
Vv
NYECIEN DY
iL“_J’_r N L)\'
A B Q) D)

Question Nos AT to 18
ey eI AT F 18 TF

Dircctions / A a series is given, with nne-term

missing. Choose the correct aftemative from the given
ones that will complete the series.

v ey &t af ¢ S v gy g 8 BT v
el & o g @@t Aweq giav s S@er &R

|

17) 015,03, 2,12,24

A) 48 B) 09
C) 0.6 D) 0.06
18) BCD, DBC, EFG, _? I

A) GEF B) EGE
c) 1H D) FEG

19) Which of the answer liguie indicates the best relationship
bepween Milk, Goat, Cew, Hen?

Fi @ e It g aewd el F d
waE e £ 7 '

GR2015 17418y
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Part A: General Inteligerce and Reasoning

Jmar o HEE q_ o Hﬁi"ﬁa

20} A florist had 133 roses, she sold 51 7 of them, How many
roses had she lelt 7

U ey FAEr & T 133 e & | 36 384 O
S/ a7 fow | 3a% @i o aeE A F9T

B) 1
D) 19

A) 57
c) 58

21) Which of the answer figure is exactly the mirror image of
the given figure?

e O 3¢ T & 9 st A FE gavT
yiafars &

22) From the given allemative words, seleet the word which
carnet be formed using the letters of the given word.

frr o d=Teuw ewel W, UF e @ =US drav
1 AT e F I & 9O H A aAT

o

INTERDEPENDENT
A) RETREAT B) DEEPEN
C) DEPEND D) REPENT

23) Direction: Two slatements are given followed by two
Conclusions | Assumptions, | and 1 You have Lo consider
the statement to bz true, even if it seems to be al variance
from commonly known facts. You are to decide which of
the given conclusions / assumptions can definitely bie drawn
from the piven staternent. Indicate vour answer.

i & s Ru wd ¢ o A o e
A, 13 1) B T B o e e B
B o9 Tod & 9% 9% EEREE TG A 8
BT St 2 2 3Ty @A & § R R aw
Fue 7 @ wtar e v A A e
gt B ST BT B HUA e & B
Fm|

Statement / T4 :

1. All children are students. / @3 @== Taezmdt &

2, All students are players, [ T Faeai Ears 2l

I All ericketers are students, | T8 fondre TEwS!

i1 &1l children are plavers. | 3 g T@emEr 8]

A} Neither conclusion I nor
11 follows. | & A |

e g diw T feay
1l %

C) Onlyecorclusion 11

follows. | #ad fsed 11
Teahetdl £

B) Only conclusion |
follows. / Faer TFwHY |
[ECTECIN

D) Both conclusions 1 and 1

follow. / e 1 31
et e B

24) Select the answer figure in whick the question figure is
hidden.

a7 IeeT HETE TRTEEH vE g of 8% £

4l

'

S
|
o

A) B) I | D)

GOEOTE 11741
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Parl & General Intelligence and Reasoning W & EE QAT UE aE i

15) Which one of the given responses would be a meaningful
order of the following,
I, Child, 2. Prafession, 3. Marriage, 4. Infant, 5. Education

=g & R arat sl 1 ey P tE w aeE i

HHEET 7

Lﬂ?ﬁlaﬁﬁﬁnlﬁﬂi4jﬁ&iﬁgﬁ |
A) 13,524 B} 21415
€} 54132 D} 41523

P-T.O
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Part B. General Knowledge and General Awareness

T W WA AT UF A S

Part B: General Knowledge and General
Awareness

26) The smallest ocean is
HeE BIET HETAEH i &1 &7

B) Arctic/ JTF&?ET'F
D) jndian/ féz

Al pacific / W
C) Ayantic / 3Ewifes

27) The Head quarters of Word Trade OrganisationfWT0O) is
situated n;
Fored e O HITET & HEATEH Fel eud 87

A} London, UK/ oieer, g5 B) Geneva, Switserland /
Sear, EaeateE

D) Washington, USA/

C) New Delhi / 7 faeat
afefaes, gua v

28) When water fréczes its density
& gl S| S E, 3 35 uaea
A) Rernaing constant / TA3d B) Increases [ &6 :H"-IT—IT%]
TEar g
C) Decraases  ©HE SATAT %‘ | 0) Hecomes Lero /e ﬁ

el &

29) The headquaters of United Nations Organization is located
at

TUFd TS W6 61 HEATHT el e0d 87

A) Geneva / ﬂ'ﬁﬁT
C) Washington / @IS

B} New York f = 4TE
D) Rome / T

30) The acid which fails to liberate carbon dioxide from scdium
hicarhonate is;

Wi argwalive & e 2 siFwEe e 3
fammer 3meto g Al AT AT 7
A) Sulphuric acid / B) Fomic acid/ Prifs
FergRE Tl ufds
€) Carbonic acid /@damE D) Acetic acid / uifew
= s

31) Mame the first Indian to be banned for using anabohic
steroid In Olympic games:
TH UUA WY & a9 aage 39 @efts et
¥ vAmias RUaE & T F & SR aEEEd

T r?
A} Sumitha Laha / @A

B} I Sanmancha Chanu |

ET 1. "H 9l
C} Aswini Akungy f D) pratima Kumari /
il sl QeAT FHNT

32) When was the office of District Collector created?
e S992T =1 92 F9 F=007 TWTT

A) 1771 B)
c) 1772 D)

1773
1786

33) In B.C.G. Vaccine the word 'C' stands for -
1,C.G. &k 7 O 9 Ty S

A) Calmette / FoHe
) Chiorine ! TG

B) Cough/®FEH
D) Cadmium / FEfETH

34) Umide of sulphur present in the atmosphere are washed
down hy rains Lo cause;

AT A AEE Howl-3aass a1y & 4a Id £ 3R
FATEATT &7

A} Industmal smog B) Depletion of [ossil fuel

formation / HrenfE reserves | SR é 3Fs
e AT Halg 1§07
C} Eutrophication in lakes/ D) Lowerngaf pH of soil /
it ¥ ge e FET A pH FT
TFFTERReT

35) Chemicul composition ol lieavy water s
TF S 1 TH=IS oo 41§l 87
A) 110 B} HDO
C} Ha: 0} 10

GDENE /1174
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Part B: General Knowledge and General Awareness

AP W D A T\ A eI

4_

36) Which one of the following is an autotro ph?

fA=fefas & & s m=a: o

A) Algae / drarer B) Butterfly / faaat
C) Mushroom / HIET L) ﬂrﬂsshuppcn‘ﬁ'gﬂr

37) Whe of the Delhi suitans pursued the pehiey of 'blood &
iron':
T el geam & e J11a suers
A) Ghiyasuddin wghlag / B) fiiutmish / Aregafar
ﬁTﬂTﬂﬁi?-h;JIﬂEﬁ
D} Alauddin Khilji /

C) Baiban / wsraT
K CIEAC R

38) Dadabhai Narcji has described his theory of 'Drain of
Wealth” in the book

ETETITS JARS o et e & awTEe e & ey
T H T
A) British Rule and its
Consequences / fafEsr
FALEECH

Fedi el

C) Mature of British

Colonial Rule / srav
w u TFHCATI S e T =T
e e siafmas

HIF Wfesr & 2
2f3ar

B} Poverty and Un-British
Rule in India / oraréf w5
IRy s sy

D) Explonative Namwire of
British Rule in India /

el

38) Which one of the [ullowing is a non-dimensional quantity 7

f=fafas d 4w e o
A} Co-efficient of viscocity  B) Mank's canstant | e
{ AYTAAT AR
AT
C) Strain / T D) Gas constant / 39 T9=7

40) Who was the suthor of Telugu Work Amuktamalyada?

Ao Fia 3 HeaE 7 e gt e
A Harihara / e

C) Krishnadevarays /

FSUTETT

B) Bukka / g
D) Devaraya | S8TH

41) The presence of pollutants in the environment is usually
expressed in ppen, whers ppm stands for:

wEErer & yeEE i Iufrufy ) g o o
UH A o B @ g met o o o w g e
T -

A} pollutant prevent B) parts per million / GTEH
measures | GToAEE o PR
fde #aw

D) particles per male [

oifesFes UT Hie

C) purily per microgram |/

RE 44 ATSHETH

42) Ceonomics classifies the man-made  instrument of

production as:

Femd AT AT e sueoE Ry ET A
aaffet e i

&) capital | 9afr B) organization / F3TET
) equipment /. Iq=h{0T D) labour / 537

43) The first President of independent India was:

i I & TUH Uoa g &id 47
A) Sardar Patel / FIETT B) Dr Rajendra Prasad /3T,
Lres TTaig Wig
C} D S. Fadha K]'Eﬂh.l"lﬂﬂ ! D] 1L, Mchru / d‘_m. ﬁ?“-
2T, T TV 50T

44) Who established the *Sharda Sadan', w school for Indisn
Widows in colonial lndia?

}ﬁwﬁqﬁ%mﬁmﬁwﬁmﬁ#ﬁv-am
Hed FEA @ BT e £12

A) Sarajini Naidu / B) Pandita Ramabai /
w1atll Ay STl THEE
C) Mahadey Govind Ranade D) Davanand Saraswat [

| wEeT fEes e garee BIEEr

GO20G 1174187
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Part B: General Knowledge and General Awarsness

e 4! AWRET AT T WEED AN

45) Democrucy is a 'government in which everyone has a share
was the opinion of

e el v ¥ ot v fr el g
&.ae Ao A

Al Seeley / B B} Abraham Lincoln/

HFTEH e
C) Plato / =T D) Jeovans | Rrdte=g

46) The Cash Reserve Ratio isa tool of

weRa T He]aTel Tedient 39 uT 7
Al Fiscal policy | Tt B Monetary policy /| FifseR
GG GG
C) Tax policy / ¢ AT D) Agricultural policy / FIH
R

47) The greatness of Shershah lies m his:

s i A e WiEa o
A} Secular attitude./ B) Administrative reforms /
uA ey wiEgea FIE AT WU

C) Superior generalship / D} Viclories against

S AL arel

48) The term URL’ used in Iniemet technology stands for:
ST SaeTell 3 WEET eS8 T I U O
it £

A) Uniform Remete Locater B) Unigque Besource Locater

| giamE e [ o fE Wy

CIETEs
C) Uniform Resource

Locater [ qﬁlﬂfﬁ‘-‘r
Ty siteet

o) Unigue Remole Locater

| Fferw e Jde

49) Which of the following countries kas brought out a stamp

on Mother Teress o celebrate her hirth anniversary?

AT &3ET & F4aT A= § 6w 39 97 T
ATy & O fw o3 o w=riea & 7

A) pakistan | SR
C) vsa / sdfer

E) India [ AT
D) Uk /=

Humayun / §HTE 97 ST

50) How dces agricullure promote the Indian  industrial

development?
FE F gy s few & agEr FE aer
e &2
A} By providing food and B} By cpening up market
for mdustrial products |
Henfaer IeamEr &

T &g Wiersi
By supplving raw
materials / FET ATH

Fr LT FF

¢lothing to laborers |
A= Fr 08 dr

FOST HEAT FHIEF
C) All of the given options /
By B 7 8

EE)

D)
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Fart C: Elementary Mathematlcs

O W T dEeToe

Part C: Elementary Mathematics
. . - E L ﬁ

16 men arz able to complete a piece of work in 12 days
working 14 hours a day. How long will 28 men, worlcing |2
hours a day, take to complete the work?

16 ITEHT 2ot & 14 0¢ FH 0k e w5 12 e
T HE 5] 28 WA B & 12 5 i IS sE A
o foretet e eyt

) 7 days / B
) 8 days /By

B) 10 days / T&T
D) B davs / T2er

A certain sum amounts to T 1725 at 15% per snnum al
sitaple interest and T 1800 in the same time at 20% per
annum at simple interest.Find the sum.

15 e 15% wfy af ) ammer s ey O 2
172581 ol & st 20% wfy o i wuRr s
&0 I 3« & @R # T 1800 @ S ¥ wfr
Fase?

T1700 B) ¥ 1500

T 1650 D) ¥ 1200

A dealer marks his goods 20% above cost price and ollows
a discount of 10% to his customers. His gdin percentage is-

U Tasel {9 A U9 3T B weTE gew T
20% HEF foramar & s o oeat ) 100 $r
W e B 3o o ofdiee e &0

% B} 7%

% D) 9

Raja ean do g picce of work in 20 davs while Ramesh can
finish it in 235 days. Ramesh staried working and Raja
cinzd him after 1) days. The whole work is completed in

ST Tl ST T 20 e 3 93T T e 2 At Ter
525 BT uwr Fr wear THI & I A& F % 10
ST TG T o S U ) o e ey For 3 oy
ﬂ-;l-rla

20 days [/ =T B) 6 21"]3 days | T&a
15 days / fat D) 18 duys / R

53} 1008 divided by which single digit number gives a perfoct
square?

1008 T TohH U 3 arel §er 8 Bsnfee Far s i
HIFTRH U ol 831, e & s

A) T B} &

C) 9 D} 4

56) A right circular cune of height 20 em and base radius 13 cm
is melted and casted into smaller cones of equal sizes of
height 5 cm and hasé mdius 1.5 em, The number of castad
COnes ore-

20em F A 15 em SR s ard o moy geT
a@ﬁmm%#aﬁs e FETHT 1.5 em HTHT
hmm?wmr{#aﬁﬁ\tai@?ﬂﬁmmﬁ

o B AT & wem e gt
A) 100 B) 300
c) 150 D) 400

7) A student starting from his house walks at a speed of 2 1!’2

km / hour and reaches his school & minutes late. Next day
starting at the same time he increases Ris speed by 1 km /
hour and reaches 6 minutes early. The distance between the
school and his honse is -

T H IR A 2 o R wfa g B iy & e
I Fg 6 FAeTe &3 # wgwe &) svrer e aw 3
AT & 3 o ¢ H 3l i | R wiader aany
T E 6 FeTE e URT et & v i sew I a
Fereretr &l &

A) 4 Km [ &RAY
) 3 o km ¢ st

B) 6km / FExir

58) The mean proportion of 1,21 and 0,00 is-
1.21 39 0.08 ] AT =N FE7

A) 303 B} 0033
C) .33 D) 3.3

) The value of VIOOAET is equal to
V000447 ®r \w g 7

A) 0.2
C) 0Loo2]

By 0.02]
D) 000021

GOMOS 1174187
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Part C: Elementary Mathematics

T I WETRE T

60) A batsman makes a score of 87 runs in the 17" inning and ~ 64)

thus increased his average by 3. Find his average afier 177
nning,
v Feerarst 17 87 9y # 57 & ST g 3 S TR
T 3T 3 1o &g SaT &) 17 91 9T & a1g S
e e e

A) 90 B) 84 A)

3 o) &7
c) 34 } 8 c)

61) A fruit merchant makes a profit of 25% by selling mangoes
at @ certain price. 1f he charges 1 more on each mango, he 65)
would gain 50%. At first the price of one mango was-

e et ST ) e AT A O e A O
25% FTART g & | A% 37 ool wE W T A
ST T 3 5004 T AT BT | W H, HTH F RHT

Fopa=tr o
A) T6 B) T4 A)
)} T7 D) T5 C)

62) A seller increases the cost price of an article by 30% and
fixed the marked price as Rs286. But during sale he gave
10% discount to the purchaser. Percentage of Profit will he-

v o & TRl arg & oa #59 30% a9

e 3T 3T Arg 7286 oo & faan wig T
¥ HHY 354 S0 & 10% H1 @ &1 o =

wieera fRaar gy

66}

If the cost of an aricle is ¥ P after two successive
reductions of 20% and 25%, the original price of the article
wis

afe; Fae T Y ST 20% HT 25% & HEFES
FET I & GTE T P AT & o a5 oh HE o 1
2fr

24P B) T3P
5 5
75 P D) T5F
g 4

A plane can cover 6000 km in 8 hours. If the speed i
increased by 250kmph, then the time taken by the plane Lo
cover Y000 km is

e T 6000 FHT & 2l 8 5¢ 3 a9 F U § a1
ey aTia 250fEet uiey Her aar drsme & oo [ 6

=i a7 &4 ¥ e = naar aag J9aemy
5 hours /€& B) & hours / G
6 hours / ¢ D) i hours | T

A solid right prism made of iron has cross section of 2
itiangle of sides 5em, 10em, 13cm and of height 10 cm. 1
one cubic em of iron weighs Tg, then the weight of the
prism 1s (approximately)

N & U BT TH e A sem, 10em, | 3em ST
e R 10 om FHES & s Fey IR AT F
T 6 oo 1 g5 Tg 8, o 4= &7 551 (§9)

A) 15 B) 20 feferaT gram?
cy 17 D) 10
; J A) 137132 gram /9T B) 1100.68 gram / TWH
C) 1570:8 eram ! D) 1470 R oram / T
63) An iters was sold for TI600 at 25% ciscount. Its marked LT g A bl e
price was
ﬁ-ﬁﬂ’[ﬂ'{?@?ﬁ'ﬁ“nﬁﬁfﬂ?ﬁﬁ[]i}ﬁ'ﬁ‘ﬂm FHFT B7) A sum of T 800 becomes T 956 in 3 vears ot a certain rabe
ST \ of simple interest, 1f the rate of interest is increased by 4%,
S T what amount will the same sum becomes in 3 years?
A) 4500 B) T4800 ¥ 800 $T T grEnTer =@ A v el g WS
G} T 2730 iy ¥ 3 ¥ 956 € ST ¥ % FS 2T 4% & & SiC
a3 ofEr s o F fraer g S
A) T 1052 B) T 1042
C) T 1024 D) ¥ 1025
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Fart C: Elementary Mathematles

HIT T URTEE Wi

68) A shopkeeper, in order 1o clear his old stock of T.V. sets,
offers 12% discount on the T'V. sets. If the marked price of
a T.V. getis T6300, the selling price of the T.V, set is:

UF gHreR 2l 3ol N T s am s= F R
T BT O 12% Hrge & & iz S e # sifra ey

To500 B &t Few el ipm eaar
A) 25700 B) 76000
C) T5720 D) Z 5400

69) Average income of A’ and ‘B is T200 and average income
of "“CTand "D is T250. The average income of A B.C and D
is-

A R B 1 3ftEe 3 2200 & v © va D& attwa sy
2250 §| A,B,.C 3T D 7 dtwa s e i

A) 200 B} T225
C) 7125 D) 710625
70} The average of 1,3,5,7.9.11....... 25 terms is-
1.3.579.11...... 25 #&3r &1 3tag Baar g
A) B) 25
C) 625 D) 50

1 T1) The ratio of ages of two persons is 3:9 and the age of one of
them is greater than the other by 40 vears, The sum of their
ages in year is-

&Y STt & 3T T a9 5.0 A AR S vy
HIY G W 40 35 10T ) 39 37 1 I Fras as
RN

A) 140
C) 150

B) 150
D) 150

Question Nos.72 to 73
¥ BEAT T2 & 13 a0

Directions / Rder Study the dara and anywer the auestions

ATRNFT F HETT F7d 7ol & Feerw ooy

The score of students of a elass are given as follows:

v T H 77 1 Gl IR G 59 G

TQSCORE
§R ARy T

Xoof Smidenss " | -
stmgen | ¢ | 7 | *

=8 1] ‘-EC-]EC- LU 5 R

N ——

72) The number of students whose 1} seore 15 100 and more is-

100 3R 3w §fe oy 3w g o o ot
&1 HE g 27

A) 36
C) 46

73) Number of students whose [Q score is 140 js-
140 gfg wfew 3w ure w3 Iy o & gen
FreeY #2

A) 1 B) 2

C) 0 0} undeterminable from
given data | B e
st | A AR
&I

74) The smallest number by which 243000 be divided so that
the quotient is a perfect cube i

243000 = 70 TgoR wew & Renfsg B aw
™ semrger v g ae dwar sy

A) 9 B)
c) 3

75) In a college election a candidate secured 62% of the vetes
and is clected by a margin of 144 votes. The total numbes
of votes polled is:

Tk Fletat 7 §U eAral 7 e SEAEAT Y 620 HT ST
BU 3 144 Fat & Heag & G o =t o e B g
T Tereeit 2fre
A} ROD
C) 1200

B) 925
D) 600
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Pail D: English
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Part D: English

Question Nos. 76 to T8
T AERT T H TR OE

Directions / f2wr Some parts of the sentences have
arrors and some are correct, Find out which part of a
sentence has an error and blacken the circle
comespanding to the appropriate correct oplion. If a
sentence is free from error, Blacken the circie
corresponding to “No Error® apfion in the Answer Sheet.

76) He finds fault at everything | do

A} He finds fault
C) Ido

B) at everything
D) Mo emor

T7) The kilchen need painting badly and | must get it
done.

B) The kilchen
D) Noerror

A) need painting badly
C) and I must get it done

78) If | wil play my best | can win any day against
anybody,

A} If 1 will play my best
C) against anybody

B) I can winany day
D) No error

Question Nos.T9 to 81
T AET 7A@ B T

Directions / A2 A part of the sentence is underined.
Belaw are given eltermatives to the underlined part which
may improve the sentence. Choose the comact
alternative. Ini case no improvement (s needed choose
*No (mprovement”,

T9) Years ago, | met a man which was President and Chairman
of the board of 8 company

A) Noimprovement
C) Whom

B} Who
D) Whose

BO) Covering thirty kilometers in thirly minutes are not j greal
distance usng u brand pew car.

81) Where are vou coming from?

A} do you come from B} were vou from

C) Mo improvement D} yuu are coming from

Question Nos.82 to 85
vry HEGT B2 35 9%

Directions / & Sentences given with blanks to be
filled in with an appropriate word(s). Four altematives are
suggested for each question. Choose the carrect
alternative out of the four and indicate it by blackening
the appropriate circla in the Answer Sheel

82) She had to ilness in order to aveid going to
the party meeting.

A} feint B) fain
C) faint O} [leign
B3} Your _nature will aid you in attaining success

in every venture you undertake.

B} catalytie
D) lackadaisical

A) persevering
C) rotund

B4) The publisher is bringing ‘@ revised edition of

this book
A) about B) up
C) rtound D} out

B5) This is our house and thatis __

A) them B} their
C) theirs D) their's

Question Nos.86 to 88
vry §&4T 86 & 83 AF

Directions / R&en Out of the jour alternatives, choose

the ane which can be substituted for the given word /
sentences and indicate it by bfackening the appropriate
circle in the Answer Sheat.

86) Onewho can not be corrected-
A) Indelat:gable B) indolent

A) aren’t a great distimce B} Mo improvement C) ineligible D) incormigible
C) s no distance D} s not A greal distance
L2015 1 1174147 13 RFT.O
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Part D: English

87) Put side by side-
A) Propose B) Depose
C) Juxiapose D) Impose

B8) Chiel o Commander ol anmy-

A} Colongl B} Liculenant
C) Major D} General

Question Nos.89 to 91
T F&AT 89 @ 91 A%

Directions / 3d%r Choose the word oppasite in

meaning o the given word and mark it in the Answar
Sheat.

E9) superficial

A) Namral B) Amicable

C) Artificial D) Genuine
90) fragile

A) weak B} strong

C) discard D} brittle

91) harmonious

A) DMscordant B} Balanced
C) Concordant D) Sonorous

a7)

a94) rectify
A) regulanse B) condone
C) clarify D) comrect

Question Nos.95 to 97
79 TEHT 95 & 97 A%

Directions / 3% Four alternafives are given for the

alternative which best expresses the meaning of the
idiorn / Phrase and mark it in the Answer Sheet,

Idicm / Phrase underdined in the sentence. Choose the

95) e beats about the bush.

A) talks continuously B) does not talk specifically

C) talks sensibly D} speak well

96) [have taken fency to this car.

A) improved B} developed liking for
C) given imaginative D) revised

touches
A) conimue B) complete something
C) bring D) totake in

Question Nos.92 fo 94
I BEIT 92 & 94 3%

Directions / f@&er Out of the four allernatives, chaose

the one which besl exprasses the meaning of the given
word and mark it in the Answer Sheet.

Question Nos 98 to 100
o H&9T 98 & 100 T

Directions / I&den Four words are given in each
guastion, aut of which anly one ward is corractly spall
Find the correctly speit word and marfc your answer in
the Answer Sheet,

92) fehcitated

A) adored B) encouraged
C) admired D) congratulated
93) honour

A) discipline B) courage

C) respect D) determination

98)

89)

100)

A) juvinnile B) juvenile

C) juvinile D) juvenille

&) deteriorate B) deierriorate
C) deteriomate D) dearicrate

A) lnoledgeable B) knowledgable
C) knowledgeble D} knowledzeahle
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$mT T

oo o Bl 80) il = o S HAY I A P s it
Pt < ogw = o= iR
A) yEta e @ o B) e A Bk
Question Nos.76 to 78
T FEAT 16 # T8 dH 5 T o=t A 5 _
Directions / & 12w are wegh & svgTe Bl i =6 =T el FE 3 A
gt & AT gear Reey georfda § | 3R BFeT LiLR
F TGA FAT TN Iecii FIAFT H AGFHT FA |
AT | B1) ey sz carfire of amet YT STRAET AT SR B
— : A T ad B) e st weiw
76) gty C) guagu cufasi D} gerawary
A) s B) 7
C) s D) s Question Nos.82 to B4
757 §&I7 82 & B4 TF
. Directions / fader: RU aiv wregt & qalar (HHAwETST
pamd greg) & faw un-ar Feey Ge av & | 3G fFee
A sz 8w GRAT FAT Jec G 7 AR P A
C) Fegan D) frar
82) aew
78) st
Al ey B) g
A Froeh B) ardy C) it D) it
C) oy D} snardr
83) S
Question Nos.79 to 81
A B
|J 797 §EAT 19 & B1 % r.:: e Di FaA
| |Directions / B Bv v arwal # & g A FRAE gHEH et
it g & & G & g e A 3T o, 3eF
T MET AT T Gle @ e ) @) amaw B4) gy
#FaiE gfE g §f at v e g Al ae e A} wtrar B) g
E TATEN @ & Gl avE FET C) Fmr D) &
5. | ==
79) i g siveer o AfFE gLaroT AT 82 e & Quastion Nos.85 to 87
A) By ¥ By 9T HE4T 85 @ 87 7%
! il o Directions / fAdw: Bv 1w & @ra4l # U a9 &
©) g gu st W ) & 2 i
l'| # e T we & | ge T @ giaT Jer I
i qiFET # FAETEN dlell HANAT |

o L
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W o s
B3) Question Nos.91 ta 93
A) zgar i #1 FR B) g ar & v o T FEGT N 793 TF
T T T TerT R T8 R Directions / @eer 20 arv gyl & Rew ) &
Cl mar s srsw sy ) ey oy & & 3fam weel ganr g & [Av a-ar By Be av d
EEIEIRE ol TwrAr Hw TR B 39gFT FFeT AT 731 3ee7 giEaT & a@gan s
e
86) .
Al reramd B gan # e s 1 J— T 2
¢ mﬁ. A) I B) sfErmmee
g el & amar § g feesl e o - D)
THTAF yfawE
87) '
A} moedr T AT s B): s i A 92) yuracgpur & HE W @Y FEaT B P
FE R ol @ @ A) e B) aremer
C gaamr o drar amr . D) oot <y 9w 3w Cl aftx D) afirs
T W 3w £ FaT W I -
= ' ) e ofw At wEw - 9
Question Nos.83 to 90 AT WT Tl g
w7 7 88 2 90 T A) merary B) meant swmEw @
Directions / Rder. fav sv s0d= aragmer & v e C) i D) sk

T | g v ar-an Reey Buaw & | 3487
e &7 gera FNAT HR IAT 9T 7 Fagen

Question Nos.94 fo 98

Froal FHAT [
UF WET 94 # 98 T
Directions / ladhr 20 aw sgvae & Ao wwml
88) oy Y amwfEA W AT | IR ozt qar ofd & fav arean Beey B aw #
A i B) fo | 3ugFT [AFey giaw For e vlRa & qEgan
©) i D) s o G

Hgeds 9
W T A W FB & Hew oo oAy () A

89) g 3 Ty Ak
R L & A e R el ged & aiaea o

‘;Ja':mﬁa gimﬁ'ﬂ 7 FT, A I A A (D Bh gwt @ e
)z ) e F E A7 3 BT & @R & Adsy _(m FAe
& 9T 7@ @ T | O o wed # O v
90) fruar ared & fEAT AT A@F | (V) & & gar a Fuarg S ¥ 8 e &
Al gl B) e T WS (V) T TAeTE 2T T
) g D gese
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94) 100) oy oy-chees. para -

adlUk B wew A) it dET I Bl gy ud gEy =

C) (1) sttt B} 1) wrem S i

C) #wr s D} zard ) ae T

95)

A) (1) HERR B) () «fef

€ () wies D) () @i
)

A) () ST B) () waify

C) (i) ST D)y =i
97)

R) (1v) weTE B) (v) sfrard

C) (1v) g P} (v 3wmef
98) |

A) (v) e B) (v) Amifa

C} (v) smeatr D) (v) itee

Question Nos.99 to 100
wo7 F54T 99 # 100 aF

Directions / A& BT a7 gerant v swii@aal &

#iF 7ant & AT aean Aeey BU aw & | 9% &

B 3ygaT o G Beeq giav it 3 9 H

FeF T Fer HTU |
%) 7 wEe @ o HE B -

A) miy v @ AwEE B wiE o W

eufa & e
C) gmga s g D) g wwe @
S
5 ]
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